EARAROBEEIERT — 2 N— IBISH —F

2019 10R 168 (k) 15EE&HE2H

m$u§ﬁﬁ§_¢,_§ﬁ4 8EIFi= C10 ¥7%—#% ‘ [XM&] # ‘ (egEmm@l - | & (&) 14000 FHE
[A&£] 1% :270,000™ ~ 23#%&:76,000 M  33%&:43,000”  43%&:27,000H . 57 :16,000
B\ BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
== o4 | KFHE 1:33.9 3-3-2-1 [40.1| — 1 410 | BEEHIE®R (51)
1155 | ¥vT¥I2 54.0 = -2 | (D 7 P N
X:a-I>JY>y BaAVATIFAI— FREHRS
N FAE :34. 44~ . - REBS (BEE)
2 2| Tyl 5 4 *50.0 ! (3;)5 a4 ° f:) () *—2457
RiwyUgTdyk BiRARTAV— EvilLy RT7—L
f 5 | BER— 1:34.6 2-2-2-3 | 40.8| — 4 450 | HEE (BHB)
3|8|10| YV7 LN 54.0 3/4) o | B g0
LAY auR—5— Biv¥ITN—Fb Ml 77— 4
N N sEEE A . _q—q— — SEEy (BHE)
N EEDECET: B4 s 1.(335).3 1-1-1-2 | 41.8 2 (4_613) i
R:ZRGr T hA—T7—FK—K B:AT7IIAL—> [t ]
- . s | oHEA 25, 56 2] - BHASHH (BEHR)
sl1l1|a=vox> t> 5 e 1(735t>3 6-5-6-6 | 40.2 6 :1;)27) g
LY LIAN—h Bt byFLAY #ro—t
8 o 9 th R :35. ~8-5- . - BriB—% (Z8HE)
6lzl7|avTLvk £ 4 s 1(7351:;1 8-8-5-5 | 40.4 3 (4_1; i
ATz - BN—Tay YL NDERNTT— L
70 4| 7RAF YN it 4 gﬁf"ﬁ?ﬂtﬂﬁ 1:(3‘8.2 5-6-8-8 |40.3| — | 10 | 477 g?ﬁéﬁﬂ (BHE)
R:T7RAXLTEL B2V /-T2 © 2= FiiE
- . =T . 77 - R (BHE)
N . BEEZASED B4 isz_o 1.(336).8 7-1-7-7 | 41.4 8 ?_319) A
LNRIVTSY BN—RTAUZR BRT 7 —L
N R R fLE— e -9-0-— . — FEBS (BHE)
9 g E=NTIFL > 9 au 1(327)2 9-9-9-9 | 40.6 9 zg;) e S
LT AT7hoyh— BIXIHIINLZR [ cpae]
o = 5 o9 9 DOEEFIE :37. -10-10- . — HEE (BHE)
N - NEXSEEE €213 e 1 (337)9 10-10-10-10| 41.3 7 (i?;) sl
RL:y3)—ANfA—- B:3I-LFTI 48— RESS
® 1—F—@EBIERL
1T=7r= 8,10,5,2,4,1,3,7,9,6
2a=5"= 8,10,5,2,1,4,3,7,9,6
3=I=F— 8,(5,10),2,7,1,3,4,9,6
40—+ — 5,8,10,2,7,1,3,4,9,6
[ /N
B 5 250 714K 2-5 450M B 2-5 1,330M JEE 2-5-10 2,540
B B 5 130H4 5-10 400M B = 2= 1,380 JEE 5-2-10 8,740
2 340H 2-10 1,090M B H 5-2 1,650
10 200

ABICOVWTRDTEEERROODE. TR LIV,




